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Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SOLY : Gaclamssrar mrenE uGEHsmer CaramLg.

Note : This question paper contains four parts.

u@dl - 1 /PART -1
GOy : () Siemensg Namss@ps@d edlenLwail&Esa|w. 14x1=14

@) Qar@sésuulL wrom e saild Wasayb ghyamLw allaLullener
Caibbs®ss GOUSLGL el wlaaun GCsrsgl rpsew.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

[ Hpuys / Turn over

Kindly send me your answer keys to our email id - padasalai.net@gmail.com


https://www.padasalai.net/

LIS 1}

www.Padasalai.Net www.CBSEtips.in

6112
2

1. (@a+2, 4) wPmb (5, 2a+b) Gy Hw euflenss Comgaer oL erefled, (a, b) GTenug) :

(o0 @, -2 (<) (5. 1) (®) (2, 3) w) (38, —2)
.. Vo X lhﬁuHGLLdPIJJ-
o u;oprdf‘eﬁigﬂlrs (a+2, 4) and (5, 2a+b) arc equal then (a, b) is :

L I B LN ot ?JII{-‘ ‘JU(_

HN ) TR 250 3, =2

e G gl h.Linl;Z] o (b) {5' 1) iC) (2, 3) \/(a) (

2. 65wHmb 117- uﬁ]Gﬁr B.@Qur.qu-6eneu 65m — 117 erenm aulg 69led er(gid GUTS. "'~ et
iy :
(=1) 4 \(Az (@) 1 () 3
If the HCF of 65 and 117 is expressible in the form of 65m— 117, then the value of
‘m’ is :
(a) 4 ng 2 (c) 1 (d) 3

3. t, Teiug) @ sl (s Qsrteuflensulen n -aug e mitiy eTeled, tg, 7ty @lem AL
(<) (8n-1)d (<) Bn—2)d (@) (7Tn-2)d %) (7nd)
If tﬂ is the n'® term of an A.P., then tg —t_ is:
(a) (8n-—1)d b) (8n—2)d (c) (7n—2)d \,é)\ (7nd)

4. x?-2x-24 wHmib x?-kx—6 -wler B8.QuUm.e (x—6) eraféd, k -ublen &y

(1) 3 )5 (@) 6 () 8
If (x—6) is the HCF of x2—2x—24 and x2—kx—6, then the value of k is -
(a) 3 Ul@ S (c} 6 (d) 8

5. X464 (p GuUESWTS LD SIS \Qetrau(meuameummieT GI‘GU)I{BéS-ShI._L_ Ceuam(ub ?

() 4 G.sé\) 16x° (@) 8+ (/) —8x2
Which of the following should be added to make x*+64 a perfect square ?
(a) 4x2 ﬁ 16x2 (c) 8x2 (d) —8x2
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x2+4ax+4 erennm @@uy woaplys Garama X 28Gerh Qe yerraflsatlem
cTamanTl&Eans
(=) 0 (.4; (@) 0 ez 1 () 2

The number of points of intersection of the quadratic polynomial 2 +4x+4 with
the X-axis is :

(a) O \‘{1 (c) Oorl (d)y 2

B sLousEs WEGaETamd AABC -ulld [C =90 pmid AC=5 Qlg.b Gr:jﬂ/chE BLENG)
(=) 2.5 Q5.8 (<) S Qa5 (@) 10 Qa8 ( 542 @&.18
If AABC is an isosceles triangle with |C =90° and AC=5 cm, then AB is :

(a) 25em (b 5cm (c) 10cm H7 52 cm

AABC -uiéd, AD yemsy, £BAC -ullen @@ sw@auly. AB=8 Gg.15, BD=6 Q.S
wHmib DC=3 Q5.8 erafley ussbd AC -Gt Hard :
(=4) 6 Q&5 (\Jf; Q.15 (@) 3 Qg.b (rF) 8 Q&5

In a AABC, AD is the bisector of ZBAC. If AB=8 cm, BD=6 cm and DC=3 cm, the
length of the side AC is : ;

(a) 6 cm M 4 cm (c) 3cm (d) 8 cm

(5, 7). (3, p) HmID (6, 6) eTemien e m GCarL mhaenau eredfilev, ‘p’ -ufQlebr iy :
(1) 3 (<) 6 J; (rF) 12

If (5, 7), (3, p) and (6, 6) are collinear, then the value of ‘p’is :

(a) 3 (b) 6 )] 9 (d) 12

(0, 0) whHmb (—8, 8) erenm UeTallsamer @emarTé@GLD CGarliym@s QahGssTe
Camiige smiay :

() —1 (01 (@ 3 (m) -8

The slope of the line which is perpendicular to a line joining the points (0, 0) and
(—8, 8)is: ‘

1
(a) -1 \Lmﬂl () 3 (d -8
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S GarUrsdlen 2 b 60 8 wy@b. @fluaman STamib @'g)mm@a;rrsmw 30°-edl(mbsy 45°
<5 2-wd Cung) Camyrsdlar Hliponag x B @epflpg) erefey, i - il :
(<) 41.92 B 1) 43.92 8 (&) 43 6 () 45.6 5

A tower is 60 m high. Its shadow is x metres shorter when the sun’s altitude 1s
45° than when it had been 30°, then ‘X’ is equal to :

(@A) 41.92m b)) 4392 m (c) 43 m (d) 45.6m
TN 2AVGSET TD s @Lw @@ & 2617538 e g el 6o awlllu@:iﬂ&@h
Qangfssiiupib Gurg o meungb darwgdler Lplurly :

) 4Tl 5. (<=,) 61r? 8.9 (&) 3ur? 5. () 8wr? 5.3

If two solid hemispheres of same base radius ‘r’ units are joined together along

their bases, then curved surface area of this new solid is :

) 47r? squnits (b) 6wr? sq.units (c) 3wr? sq.units (d) 8wr? sq.units

@ 2 (Henerullen prib G\(m WL RSTETSD, 2 (heursslu L 2 (haarudler yHw ser
Siarey QETHE&sLIULL 2 (menetudlen sardjerensy @l LOL_RISTGLWD.

(1) FLOD (=) 3 ) 4 (rF) 2
If the radius of the cylinder is doubled, the new volume of the cylinder will be

times the original volume. /)
(a) same b) 3 c) 4 (dy 2

R pUMHSES Caumae HaL Liughara Hshssaireag) % Gauane SlemL_&&mineD
@muuspharar Hepssa = 2 arafld % -@en wHOULTES |

(=) 2 ‘ ([ (&) 3 (") 1.5

x - -
The probability of getting a job for a person is 3 If the probability of not getting

the job is _2-, then the value of ‘X’ is :
3

(a) 2 fg)\ 1 (c) 3 (d) 1.5
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o5 @AH5x - B 2022
. /X - 9)_@7@;:} - alene s @50%5&
hGS - 18 16,1, b, 1, ... .. - BT
a= (b - e T
Is) A = {',2,3/} B:Q:’.,B,sj'?j' d= -5 K= 4
"L — i—a 4+ |
Axs = {G2)L30Ls)CLD d
NN =f
(271) (2z5)cz> C ) i = -S4 (6 e
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"o
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=7 g = T
R ® o>
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(o 95.)1*5:},31- D Aot L

2b)
D &cajg,fr,a Vématmaiawﬂﬁ-

LHS
- B- ¢ = 5'3,5','7}

Ax (8-¢)=[G» 2™

360p (2,3 (z,s-)c9_,1)(3,$)(3.'>")C3,’f)
- e ) (g,3) (5,805,
> §o 4 Ca,s) Chs) (kT
‘ —_.3-1_— & hl’ ° ?( (_6 39 CG,S’) (6"‘[} C"f,a) ('T,T)CTI-T)|
’ L
I L\l = l((-o = _.s: RHS @
hn’ s’-B 7 A KB = [(‘{l)(‘xb)(’/‘{)(t’j)
) :h.z = 5.7 Cz,ap(z.,:t.) (2,)(2,1)
| 28) - (3"2_) €3,%) Cg,&”)f‘l,'i)
n Y Cie 71D
P = Q = (G,2) (4,3 (&, (k.
S %Y (s,2) (5,3 C5.67(5.7
| G,2) (6.3 (6,s) (6,1)
‘—;l’_'_f s s (r,2) (2 A 228
%
P#C? C"T\"i“j)z_—_ Clj )'L—- AxC = {(l,zjcz,z)(glz) (&,2)
nt
’ Cs.2) (6,2) CT,2) §
|
= ——_‘;’r-:;_"_"_’ @\KB)-—C/f‘vxc):{((,ajcf,*f)fh'f)
Gre)” Comyca.erCem (33 (307
(n+9)" (e, 3) (6, 8) (&) (5,30 (5. (5
O G5 (65) (6 (19 (L)L
I -y
g S ®, D sy
P 9\'_‘3’ s Ax (Ce-¢) = (axB) ~(Axc)
VGY - TL 1)

29) g = Ly, 8 k5.0, 15
6= {235, 1]

:{23
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¢y b3
‘)‘t(m-—-h).—{—a,(h-—ﬁ_) +z (L-m)
a[(h""”)-{'(f\—-fe) + L -m T

r d - L0+ (om0
+@-m)n-v]

a (o) + cp[fnn ~An —m+n

+ mn v—ﬂm-n-H?

= Lin—mn .—f-wrﬂ

—
—

t‘? _ a+ §d _ od+9d
—’—{'; ) o+ t2d 2l 412d
L A
(6 d 7
fci: &,3 = & 7/ B
39 éxl.lyx{-_}

- aCo) + ACO) = a9 o ﬂ 6;&' 3£>/ff—6033+6{12:-m91+h_
s #
(1) (B %_(,—;-. 5
(0 =2 ’—? 7‘-5 = (L-m) b [9_12:_';7{ ot 15 5-{—6[%
©-® 7 y-z =(m-"d L i 2ok
@.._@ .-.;? z - X :Ch—ﬂ)d} fJ.zL..lox—f-B 32/2_57571-{41
2 %L—Sovt-(-?
Cm__H)h +(.3 ~z)Q+ (Z-")m =)/ e =
O
:[Cf—m)h + (m-“)ﬂ+c"'“1)"j4
_(ﬂﬂ_mn+ﬁm—h£+hm 'Qm)“? —Mm £330 = O =% =0
= O f__‘j’_{___ Eh’): 30' n = L
A 3 .
’ t, =ty = T4 Pgx = (paq)w +(Pe1) = 0
2
{{3 _ Q+$—CP _ T a = G)‘L b- -—(f’-ﬁ'i) _
te  a+1d L ¢ = (p<g)
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0
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: —
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LG - 11 / PART - II
GOy : ﬂ@m@“@‘h 10 clennbaense el waflsaayn. ellarm orem 28-5©
SLLmwwrs oSl wefldsab. 10x2=20

Note :

15.

16.

17.

18.

Answer any 10 questions. Question No. 28 is Compulsory.

A=l1, 2, 3} wpmbd B={x|x eraniugy) 10 - eflé SPlw usr erem) eraflev, AxB
wHMIL BxA @pflueubenns sramrs. ‘
Let A={1, 2, 3}, B={x|x is a prime number less than 10}. Find AxB and BxA.

UL gdled &TLLUUC BdTer ibys@Hl uLwbrag P LHOID Q &6 ks (@hssmar
2 MEnNGUSH @gﬂ]é;élehmg. Qbs 2peme (i) seanslLawuy e (ii) U lguIey
pemmaeiled 6T(pgis.

P Q

=

The arrow diagram shows a relationship between the sets P and Q. Write the
relation in (i) set builder form (ii) Roster form.

P Q
13824 =22 x 3P grafley, ‘a’ wHmid b’ -ullesr wHLILSE sTes.
If 13824 =22x3P, then find ‘a’ and ‘b".

16, 11, 6, 1, ... arenm dnl (HSQETIT cuflenguliler —54 eretiLig) erésSaemuneug) o miiy ?
Which term of an A.P. 16, 11,6, 1, ...i1s —54 ?

[ Sigyiys / Tum over
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19. Qereumd Corencuseaien efevssliul L WHUL SIS,

7p + 2
8p2 +13p + 5

Find the excluded values of the following expression

p -+ 2
8p2 + 13p + 5

20. uLsda |A @6 @mewdeuly AD 2. BD=4 6.5, DC=3 Q.5 WwHmb
AB=6 Q&..8 eraflev, AC -anwid GTeRTs.

B

C
4 G 5. D 3 Qa.b.
In the figure AD is the bisector of |A. If BD=4 cm, DC=3 cm and AB=6 cm, find
AC. : :

A '

&
©

B4cm DScmC

21. P(-1.5,3), Q(6, —2) wpmid R(—3, 4) @l yerailaedr oy CrisGam iy e

aTas STL(h&.
Show that the points P(— 1.5, 3), Q(6, —2), R(-3, 4) are collinear.

(3, —2), (12, 4) eremrm yeraflaer euflé Glaaad Crr&Gar® p’ wHmib (6, —2) wHHILD
(12, 2) eremm yaraflser Ul Qeawgub CrpréGar® ‘@’ wGW. ‘P R&G ‘Q-5E
@enemrium@Lom ?

The line ‘p’ passes through the points (3, —2), (12, 4) and the line
through the points (6, —2) and (12, 2). Is ‘p’ parallel to ‘q’ ?

22.

‘q’ passes
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g =5 ) . .
(=1, 2) eretip yerafl culf Qsdeugd, FTl6a| — - 2@LWgwren CpirGamritg.60

FOSTUTLENL & &Temrs.

. -5
Find the equation of a straight line which has slope —— and passing through the
point (-1, 2),

50V3 B ewrgdrer @@ urepu@an 2 FHuladlBha 30° @néss Garemsid
sorgiatar LAWHE Geam LrissuudHng aflld, LEWHADGD LUTODEESD
G Cuyeter Qgrenavencus &rems.

From the top of a rock 50+/3 m high, the angle of depression of a car on the ground
is observed to be 30°. Find the distance of the car from the rock.

@@ Gamer culgeu euaflGaneirig gnier (balloon) &rhHm 2 HGUIUHLD Curg) 6T 7D
12 Qg8 -fmpbg 16 Q5.8 -as cwmdnsg. @@ ypiuruysefe alélsw srars.
The radius of a spherical balloon increases from 12 cm to 16 cm as air being

pumped into it. Find the ratio of the surface area of the balloons in the two
cases. '

i %grﬁja;m QararL Q@ sbyseafler sar arasar 3600 &.606.8 wHmD

5040 5.Q.15 erafled, e wiprusafien g srems.

The volumes of two cones of same baSe radius are 3600 cm3 and 5040 cm3. Find
the ratio of heights. i

@uer® premuBiseT parprss sam_UuBHapar. Qram@h HrarTwmsefl@ b
QeucuCGoum smser denLugnarer BlENSSEe| 6reme P

Two coins are tossed together. What is the probability of getting different faces
on the coins ? -

p=_—* Q= Y el _2'1 5 &SNS
x+y' x+y Pt -Q '

If P=

1
y -

, , then find 75
x+yQ x+y P - Q°
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L@ - TII / PART - III

GOy : amauGuayib 10 HarrssEHé® Qe wefGasa)b. efearm cram 42 -&E

Note :

29.

30.

31.

32.

33.

; : 10x5=
S_Lmuwng e weallaseyb. sa=h

Answer any 10 questions. Question No. 42 is Compulsory.

A eranugl 8-@ Lé Ganpeuran Guen eramaafisn samb, B GTEOTLIG) 8—3 a‘ih_%;—,
Gopeuren LET ramsaflan semb wHmD C aaug @l uuemL. UsT erammaatlen
Sewtd eraflev, sMNunisas.

Ax(B-C)=(AxB)~(AxC)

Let A= The set of all natural numbers less than 8, B= The set of all prime
numbers less than 8, C= The sect of even prime numbers. Verify
AxX(B-C)=(AxB)—(AxC).

R Fol HSQSTLT suflensuQen 1, m wHmd n-peug) 2 mliLser ¢penpGu X, Y WHHILD
z eretfled Senaupeueameupenm Hlemdssey. ' '

(1) x(m-n)+yn-)+z(l-m)=0
(i) (x-yn+(y—2)+(z—xjm=0
If 1'", m'h and n'™ terms of an A.P: are x, y, z resp., then show that :
(1) xm-n)+ymn-1)+z(l-m)=0
(i) (x—yn+(y—2z)!+(z—x)m=0

]

R0 sl Bs6sTLr cuflensulen 6-cugy wHMID 8-eugy 2 musefler aSlflgw 7 : 9
eraflch, 9-aug wOHmD 13-cug 2 uiysealler alfsd srams.

The ratio of 6% and 8 term of an A.P. is 7 : 9. Find the ratio of 9" term to 13'h
term.

36x*—60,x3+61x2 —mx+n QPG @M WPW issd arafléd m, n ey Hweunden
UL SEnETS &TeiTs.

If 36x*—60x3+61x°>—mx+n is a perfect square, find the values of m and n.

&ir&a& : pgx® —(p+q?x+(p+q?=0.
Solve : pgx? —(p+q)2x+(p+q)2=0.
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L B GTETUET 72 4 g4 . . _-—13 S i il
34, « B X tax+2=0 -@éd pperusear LHMIW B—u—T erafldy, ‘a’ -ullen

HULS STes.

—-13
If o, B are the roots of 7x2+ax+2=0 and if B—¢= = Find the values of ‘a’.

. Gaoav Cahméams eraps BanéseyLb.

State and prove Thales Theorem.

. @@ ewrard oNworer Aaoowusms LB Colawhg LG Gprsd

1000 .8/ wenfl Ceusgflay upsfpg. Cs Crrssw wH@pr@m eflwrand HGs
efloren Hleewsans ol Gl wss CupeE Gorésl 1200 &8/ wenfl Geuggdle
LPSSDg. 1% wefll Crrsdnely GpE Q@m NOTah&EHsS @enLiul L
CpTeneey ereusueTe] EmEED ?

An aeroplane after take off from an airport, flies due north at a speed of

1000 km/hr. At the same time, another aeroplane takes off from the same
airport and flies due west at a speed of 1200 km/hr. How far apart will be the two

planes after 1% hours ?

A(—4, —2), B(5, —1), C(6, 5) wpmd D(—7, 6) pSweuben (peel l_;eimﬂasrrrra;e:s
Qsrear prpsrsder usshsailar BRI Gf GETETSMmS SAMDEGLD 676w
sT_(H&.

A quadrilateral has vertices at A(—4, —2), B(S5, — 1), C(6, 5) and D(—7, 6). Show
that the mid-points of its sides form a parallelogram.

senquilen 85 @m yarelladmpg 30 B 2.wipgpeer sl gdler Guogierer 20
CaryrsHern Siig. wHmb 2 &8l grhnéGaTeanhiser perpGu 45° LHMID 60° erale,
Caryrsdlen 2 wrsmss Grems. (V3 = 1.732)

ground, the angles of elevation of the bottom and top of a

int on the
From a poin and 60° respectively. Find

tower fixed at the top of a 30 m high bujlding_are 45°
the height of the tower. (3 = 1.732)

[ Hmiins / Turn over
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410,

41.

42.

‘A container open at the top-is in the form of frustum of a co
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10
o wrb 16 Qe 2 eniw P saben GenL SSGTL Guu]'@.géu élmﬁmﬁé @L:”(‘;L’:;“:;
ganilen Gopyrod Hnns Hawuid o drerg SpuLo EpT0 .8 G}&'- ED!D@J,E,E] a(m
<y 20 Q.18 Qaran. Qurdrsmaild WpEpenLWITHL UT® ;ﬂquuuu@ FD?’:"Q‘;E’
AL urellem eQenew T 40 arafley, HFLUGLEL LralsT Quorpp @ |
ne of height 16 cm

: .. . : ind the
with radii of its lower and upper ends are 8 cm and 20 cm respcct%‘/ilg‘ Erm litre.
cost of milk which can completely fill the container at the rate of P

Bgen erenm QurHuiucs wrameuir @i e menarufen GHUDLPL b LGeN gmmmrr%
wrAf gearep e meursHari wrdAenr Sern 12 Qg8 DG GXE.]L-L_LD ° Q;
G0, @aQeur smbiGer eowguph 2 Qe EMmbEGLTETD HrHe o (HeuT&sIW
wrHtulen seneerencus Eras.

Nathan, an engineering student was asked to make a model shape.d L el cyhgdﬂ;:f
with two cones attached at its two ends. The length of the model 1s 12 cm - c; Si
diameter is 3 cm. If each cone has a height of 2 cm, find the volume of the modc
that Nathan made.

SO wrameuiseT o earer g U@L, 28 Guir NCC uligyd 30 Guit NSS -gd LDLiJQIL'f)
18 Guir NCC wpmib NSS aytb Csrdlmriaer. g wramauil FOeUMUIUY pepuilgd
Caibbs®&sLuPdprt. eur

(i) NCC -ulléb @(mhgl, armeé NSS -& @darodd

(i1) NSS -@ @mBg. e NCC -ufle @eamod

(i) @&Gn qeamhld Ll AL GCsibgy EEBULSHETE HHDSESMETE HTETS.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both

NCC and NSS. One of the student is selected at random. Find the probability
that

(i) The student opted for NCC but not NSS.
(ii) The student opted for NSS but not NCC.

(i1i) The student opted for exactly one of them.

x-Qeul_(psgiamLrerg y-Ceu (HEgamgen erameu il 5 Su@Gsear HHswrss
Qeran @@ CrrGarLmarg (22, —6) rerm yetall auflé Qewflamg erafie,
SIHECET g6l FIOSTUTL L& STETS.

Find the equation of the line passing through (22, —6) and having intercept on
x-axis exceeds the intercept on y-axis by S5 units.
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HEOEBTIHS| G5 GTEHS (G ELD cfenLwefldsan.

Answer all the questions.

AB=5.5 Q&.8 |C =25° wpmib 2§48 C S mHg AB -&@ euerpuiulL
G&S516Cam_gen Hard 4 Q.8 2 emLw AABC aenfs.

S|V G|
6 Qg8 el LpeTer qulLib cuenghg cul L Shle mmmgﬁeﬂ(@p@ 5 Q&F.L‘S
QErenaveilgueter @ Laraflepwéd Ghléseayib. é?lﬁll—IGiTGTﬂuS]Gﬁ(_[bIngJ L gHDES
AsrHCsTHE uamrhs, OsTHCHT e farhisamars sassl(Hs.
Construct a AABC such that AB=5.5 cm, |C =25° and the altitude {rom C to
AB is 4 cm.

OR

Draw the two tangents from a point which is 5 cm away from the centre of a
circle of diameter 6 cm. Also, measure the lengths of the tangents.

y=x2—4x+3 -ulen euenyLLD GUMIHE S epeid x2—6x+9=0 6T &M
FwanuTl L Sir&seyL.
AN
2 —4x+4=0 eTehim FweTLM g6 QUMIULLD euamyhg Hirellen Semenoemws
Fo ) 5.
Draw the graph of y=x2—4x+3 and use it to solve x2-6x+9=0.
OR

Draw the graph of x> —4x+4=0 and state the nature of their solution.

-00o0-

2x8=16

Kindly send me your answer keys to our email id - padasalai.net@gmail.com


https://www.padasalai.net/

